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- Z-Present Jorgenson's theoretical model of neoclassical investment de-

mand. ( 3’}'7"))

|« Why does the firm maximize the present value of the net cash flow?

2, Define the “user cost” of capital and explain its relationship to the in-
terest rate.

3 Write down the first-order necessary conditions in the model. What
factors determine the desired capital stock? Does this formulation imply a
flexible accelerator theory of investment?

§7A Consider the'following portfolio-balance model of the monetary/ financial
sector in a two-asset (money and bonds) Keynesian model: C}f 15 )

m* = 1000
b* = 4000
b4 = —5y + 80000r + .Tw.

Notation: money supply m*, bond supply 4“, bond demand b4, national
income and product y, interest rate r, wealth w.

|. Determine the money demand m?; explain your calculation. Explain the
signs of the coefficients in the money demand and the bond demand.

Z . Derive the LM curve.

3. Suppose that government expenditure rises, financed by selling bonds
(b* increases 1000). Using Keynesian IS and LM curves, show the effect on
the national income and product and the interest rate; do these variables
rise or fall? Explain how the LM curve changes.
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